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R DUIFIERHH | 21T P ?;ig%ﬁigk i
X 43 B-A B+AX100(%) i
1 A bt I it (a) 9,512 9,889 377 104.0
2 ok I it (b) 4,475 4,728 253 105.7
i 3 % o ftt B X I A (c) 757 829 72 109.5
4 M = FH A #H £ 1,644 1,865 221 113.4
A 5 «C R ) & B £ 78 87 9 111.5
6 D fi 61 63 2 103.3
e i I i (A) 16,527 17,461 934 105.7
1 W& = fia 5 #(d) 8,316 8,156 -160 98.1
2 M £ #y 3,625 3,787 162 104.5
. 3 & ¢ 3,022 3,171 149 104.9
4 W fm  E A # 1,437 1,434 -3 99.8
i 5 X # Al 5 454 449 -5 98.9
6 < %) fit 1,295 1,243 -52 96.0
S H # M ®) 18,149 18,240 91 100.5
s H I X (A)—(B) -1,622 -779 843 48.0
® W W ¥ k% Eg; X 100 91.1 95.7 4.7 1051 O
H&f’af@ﬁ%ﬂ@%ﬂﬁtb%@(aH(gH(C) X 56.4 52.8 3.6 106.8] O
I 7N all i =S 76.4 77.4 1.0 101.3f O




&H 301

LOPRR2TAREE PRAEOIRDL (RIS B pife)

(HAZ:E M, %)

FE

X 4y B-A B+AX100(%) i "
1 A be I it (a) 7,068 7,464 396 105.6
2 k I it (b) 2,524 2,742 218 108.6
I 3 £ o Mt E FE I A (c) 520 580 60 111.5
4 M = FH A #H & 881 1,022 141 116.0
A 5 ( ®R ) # B £ 78 87 9 111.5
6 % D ftly 49 49 0 100.0
E W I e (A) 11,120 11,944 824 107.4
1 B B & 5 & O 5,358 5,344 -14 99.7
2 M £ # 2,623 2,761 138 105.3
& 3 % # 1,988 2,158 170 108.6
4 W E A 7 1,106 1,103 -3 99.7
i
5 EEN ol 5 375 373 -2 99.5
6 % D ftly 859 829 -30 96.5
& W i< ¢ M B) 12,309 12,568 259 102.1
e H I X (A)—(B) -1,189 -624 565 52.5
Bow W X o ¥ Eg; X 100 90.3 95.0 4.7 105.2
Tk B4 B S 2 bR (a)+(g)+(c) X100 53.0 49.5 -3.4 106.9
] R 1l H =5 88.8 90.6 1.8 102.0, O
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X 4% B-A B+AX100(%) fiin s
1 A 5t Y 5 (a) 1,012 987 -25 97.5
2 kK Y s (b) 1,134 1,185 51 104.5
I 3 F O M E ¥ I & (c) 103 105 2 101.9
4 M = i = £ < 114 128 14 112.3
A i
5 C B ) ® B £
6 < D it 5 6 1 120.0
e it Y i (A) 2,368 2,411 43 101.8
1 H&k = w 5. # () 1,264 1,160 -104 91.8
2 M £t # 472 471 -1 99.8
& 3 % 7 457 466 9 102.0
4 P il & A 2 135 135 0 100.0
H
5 E7N Al B 30 29 -1 96.7
6 < 72 fth 201 192 -9 95.5
e it # M (B) 2,559 2,453 -106 95.9
23 w % X (A)—(B) -191 —42 149 22.0
Bow M X ok R Eg; X100 92.5 98.3 5.8 106.2
WhE e 5Bt E s R O X 100 56.2 50.9 5.3 110.3
(a)+b)+(c)
G 2 al Jiz| R 54.7 54.6 -0.1 99.8] A
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X 4% B-A B+AX100(%) fiin s
1 A bt I % (a) 318 314 —4 98.7
2 %k I %% (b) 185 176 -9 95.1
I 3 F O M E ¥ I & (c) 57 57 0 100.0
4 M = H A B & 246 279 33 113.4
A .
5 C B ) ® B £
6 < D 1t 2 2 0 100.0
e it % i (A) 808 828 20 102.5
1 % =] A 5. # (d) 411 396 -15 96.4
2 M £t # 80 82 2 102.5
% 3 % 7 167 150 -17 89.8
4 P il & A 2 71 70 -1 98.6
H
5 E7N Al B 28 28 0 100.0
6 < D fth 46 42 —4 91.3
e it # M (B) 803 768 -35 95.6
3 i1 I X (A)—(B) 5 60 55 1,200.0
® w W % o Eg; X100 100.6 107.8 7.2 107.1
WhE e 5Bt E s R O X 100 73.4 79.4 1.0 101.4
(a)+b)+(c)
G 2 al Jiz| R 61.8 60.5 -1.3 97.9] A
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X 4% B-A B+AX100(%) fiin s
1 A bt I % (a) 273 246 -27 90.1
2 %k I %% (b) 120 110 -10 91.7
I 3 F O M E ¥ I & (c) 15 16 1 106.7
4 M = i = £ < 335 316 -19 94.3
A .
5 C B ) ® B £
6 < D 1t 1 2 1 200.0
e it % i (A) 744 690 ~54 92.7
1 % =] A 5. # (d) 339 327 -12 96.5
2 M £t # 64 66 2 103.1
% 3 % 7 129 117 -12 90.7
4 P il & A 2 55 55 0 100.0
H
5 E7N Al B 16 14 -2 87.5
6 < D fth 65 61 —4 93.8
e it # M (B) 668 640 -28 95.8
3 i1 I X (A)—(B) 76 50 -26 65.8
® w oI % o % Eg; % 100 111.4 107.8 3.6 9%.8 A
Tk B A5 5 2 e I8 3 AN 2% b =R d X100 83.1 87.9 4.8 94.5 X
(a)+b)+(c)
] 7R al A R 58.0 53.7 -4.3 92.6 X
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X 4% B-A B+AX100(%) fiin s
1 A 5t Y i (a) 841 878 37 104.4
2 %k I % (b) 512 515 3 100.6
I 3 F O M E ¥ I & (c) 62 71 9 114.5
4 M = F fa fH 4 68 120 52 176.5
A .
5 C B ) ® B £
6 < D 1t 4 4 0 100.0
83 it I¥ i (A) 1,487 1,588 101 106.8
1 % =] A 5. # (d) 944 929 -15 98.4
2 MM £t # 386 407 21 105.4
3 % 7 281 280 -1 99.6
*
4 P il & A # 70 71 1 101.4
H
5 E7N Al B 5 5 0 100.0
6 < D 1t 124 119 -5 96.0
e it # M (B) 1,810 1,811 1 100.1
23 w I X (A)—(B) -323 -223 100 69.0
® w W % o Eg; X100 8.9 87.7 5.5 106.7
WhE e Gkt E s R O X 100 66.7 63.5 3.3 105.1
(a)+b)+(c)
G 2 | H R 67.6 68.7 1.1 1016 O
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